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and PDS. We have scanned two set of UBRI plates (long exposure and short exposure) and one
V plate. Fundamental reductions of the scanned data are carried out with the SPIRAL (Sparc
version) and the luminosity profiles are decomposed into bulge, disk, and bar. There is no sign of
dust lanes which can affect the isophotes significantly. A detailed analysis of the isophotes shows
that position angle of the ellipse fitted to the isophotes representing the bulge of the galaxy varies
a little along the radius. The mean position angle of the bulge is slightly different from that of
the disk. This isophotal twist seems to be caused by the triaxiality of the bulge of the galaxy.
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